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1) This guestion paper comprises 39 guestiors Al fuest

cimefully and siririly follaw phens

ey gre compilsen

T (1) This question paper ix divided it five sécifons - A4, B.C.Dard E

357 (i) Section A

Juestion carries | mark

LLLY -S'l"(“-ﬂrl ﬂ gt”'_'..‘pll,' '\r.‘_- ,?; fx ,?l‘p LEFE vy

ﬁg-‘ Fach quesiian carries 2 marks. Answer (o fhesg

Farige of 30 1o 50 words

(v} Section LJ,,-=-::..-|r.' Nos 27 1d 33 are sha
guesfion carrie 1 miarks Anvwer 1o thes
50 o B0 WEHre
TrFET il '\¢g'_r,|'.‘;” ‘fl;r Chiestion Nas 34 1o 36 ars fomg
duastion carries 5 marks  Answer 1o these gu
of M) 1 120 wordd
4 (i) Section £ (viesiion Mos 371039 e o
af Eset iy ||,'..'-J.'l"1.'-!_,_ 4 midgrks gach with
fviit), There is:no overall choice Hewever, an inrers
In serre-secfions CUnly oni
e LSS

SECTION - A

{hiestton Nas 1 1a 20 are muliinie
§

T e Fperr

guestions Each

(VPR FUESTI

wfepld e in IHE

Select and write the most approprigte option oul of the four eptions given for

energy for decomposition s light
(a) 2FeS0y — Fey(d;+ 50,2 50
(h) 2H;0— 2H;+ 0,

{c) 2AgBr-»2Ag* Br;

{d} CaClO;—Cal + )y

1. Select from the followinga decomposiion reachior

-
S—
——
|
-
each of the questions 1-20. There is no negative mark for the incorrect response. \

B owhnich sosrce Ol

Lo

When 2 mL of sodium hydroxide solution is added 1o tew pieces of

eranilated zine in 2 1est tube and then warmed, the reaction that acturs
;.m be writien in the form of a balanced chemical cquation 25
(ay NaOH + Zn —» NaZn(), + Hi0)

(b} 2ZNaOH + Zn — Na:ZnO; + H

{c) INgOH + Zn —» NaZn(; + H;

(d} 2NaDH + Zn — Na;Zn0; + H:O
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I £ 2

Mtk + 4101 — Mt I +2H.0 + ),

Uhie reastion given above is-a redox reaction because in this case 1
12)  Mntl is oxidised and HCl s reduced | orill

(b)  HCH isoxidised

fel o M- iz reduced

(d) Mntd; is reduced and HC I is-oxidised

Consider the .‘u-!li:-mnj_-_' compounds

FeSh, . CusOy | Cast )y N, C0
”’JL'

compound having maximum number of w iter of crvstallisation oo
0 Crysiatiisation kLS

crystalline form in one molecule 15 1
(a) FesO

0y CusSO

Ih asi)

id) N0

S
‘\‘
e the slecirical impuise 15 comveraed mio a \
‘IIH
.

(8l Aaon
(b)) Dendnjes
fic) SCUnin

(d) Cell body

\’
A metal and a non-metal tha exists in liquid state at the room lempcrature \

are respeclively 1

/

¥

{a) Bromine and Mercury
(b} Memury and lodine
(¢} Mercury and Bromine

(d) lodine and Mercury

At what distance from a convey lens should an object be placed 1o get an

4 on 8 screen ! L

image of the same size as that of the obje

(a) Beyond twice the focal length «
(b) At the principal focus of the lens

(c) At twice the focal length of the lens

(d) Between the optical centre of the lens and its principal focus
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10,

Carbon componnds
(3
i)y

are good conductons of electncity
are bad conductors of electricity

(1) have strong forces of attraction between

e molesules
(1v)

have weak forces of ammetion between their moles ules
Ot stalements are 1
18) (1) and (1)

(b) (1) and fin)

The c

() () and 1]

) fi)and (111}

Onides of aluminium and zine are :
(a) acidhe

(b} basic

(e}  amphoteric

(d) mneutral

Clromosomes

f1) &3

S
(1) are thread like structures located mside the nucleus of an animal cell V
Sy i
(1) always exist in paurs in humsn reproductive cells
(1v) are mvolved m the process of cell division
~

on fiom parents (o the next generation
i 3

iy hereditary informa

The comrrect statements are
(a) (1)and{1n)

(by . (nn)and (1v)

(c) {1} (n)and (V)

(d) (iyand (v}
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; 12,
I 13.

14.

Lo 5
i Rsuder the following statements
Y The's g d
gt sex. of a child 1o determined by What it inleriy fr h
i = am he molher
Gl | sex ol a child is determined by wha # mhepits § hh
i : MRS Dom the father
€ probability of havitig & male chilg 15 Moy r
S e than that of a female
() 7 "
he sex of 3 chuld 15 determined &l the fige { fezul
< Male and female gametes fuse 1o form 35 2ol Ry d
e Ot slalciments. are .
Y {i)and Gin :
th) L) and (v
t<) Vilek aunnd (v
(dy

Ly i) and (1vy

LI,'
il ong. of the following arpan s NOT »

l.!p-l-n-._in.”“.- sysiem 7 N of human female

a) 0y, TRt 1
{b) Literys

Yy Vasdefe Tens

id) f ﬁ|i:||'-.,’:.r; Thae

Iniwhich of the taii ;

HElL-ol the dollowing Mgamisms, multiple fission 15 a means ol
asexual reproducuon 7 I
(@} Yeas
(b} Leshmar i
i<} Pﬂf.‘l:n._n;d\:;,-.'u
id}  Plasmodium
In bifocal tenses used for the cormection of preshyoma |

the upper portion 5 of convex lens for the neat vision and lower pan
! 4

(a)

15 of concave lens for the distant Vision

(b)

the upper porion 15 of Conves lens: for the distant vesson and Jower
part is of concave lens for the neor vision

(et the upper portion is ol concave lens 15 for the near vision and lower
part 15 of convex lens for the distant vision

(d) the upper portion 15 of concave lens for the distantl vision and lower

part is of convex lens for the mear vision
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& pattern of
‘4\'!.;'ﬂ1'|'“j 1

16, iulcu::t'_\ the food

the magnetic field produced nside

I 3_'- |

cham: in which the og

m H the
Are Missing .
a)  Cirass oisat. M
(b} Loonla o] 1
oopiankion, Phvioplankion, small f Wisee
{C) Tiger, oras fon
I:_l‘ L g P 1
= TsS nopper, BrAsE, snake, NMog, eapl
W U Nins -

For Q. Nos. 17 te 20, two stafements ar i
har 1ok <

the other la wiled as Reason (R) Seléct the o ~ i

codes (a) (o), (c)and (d) as given e P

{a) Both Assertion (A) and Reason (R are i ard it
explanation of the Xssertion (A

{b) Both Assertion (A) and Rea (R) are vue, but B
conrect explanation of the Assertion (A)

{c} Assertion (A 1s true, but Reason {R ) 15 fals

(d) Assertion (A)is false, but Reason (R is mue

17.

Assertion (A):

Reasen (R) :
18 Assertion (A):
Reason (R) :
19.

Asserfion (A) @

Reason (R} ¢

IVsnn

The rambow 15 a nareral 5

Rambow 15 formed m 1

4 4 » - ]
and water droplets are al
Hyd n #as 15 0ot evolved wnen
J«.:I.I

Mitric acid oxidises th

and iself gets reduced

\ccumualanon ol harmifinl

e

i ahi
hrghest tropni

organsms ol th

Harmful chemicals o

g and pesis

ac

oy

them fiom discase

Wi fR ) 1s the corTr
1 (B & not the

level ofal

A Current Camymg

Assertion (A) and

sions from the

n the sky

un =ooverhead

regols with mtre

i

gas produced 1o water

1 chemicals 15 masimum in the

v chain

d on the crops 10 protect
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¢ decomposition Ol w I i a1
e libecated ai the
“'r"--'.l[f‘ ol ik 15[ i g $

eleclroges ¢ Ve the
it the ode i i o i

SECTION Iy
M. (A) (n stale whether 1 cuiry

hic NS fing in_all the
bulbs will be 30me ar difTyg uelbs of
iys ol

i3 sSame valtage an connecied in .
(b} samew nitAge are connecred m parall
C - ! s

(€l differem Waltage o (nected in s
(d) different Willage ire. conmecied m paralle]

() Two idenucal FESISIOns of 240 sach are connec ¢d 10 a batery
of 6 V. Calculate (he e ‘of the power con umed by the
resulling combimations  with | 1 mMInimum  resisiame and
(b) maximum resistance

R

(B) Draw a schematc dingram of a circuit consistng of a bamery of six
¥ cells, s 6 0 resistor, a 12 € resistor and a 18 O resi T and a
prug k:“. all Conne [':'l.! m senes. Calculate the |||_:-'|_|h|]i,‘7_

15 closed)

{when :'\C'\

(1) Electric current !?I"n\"i‘z' In e cireun

. 083 } restston
{11} Potental difference across 184
ST LLEh ]

kal

. 1810
{iif) Electric power consuméed 1n 1842

IV3ina .
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= I #s molecule and #s name 18
| suffixed wigh - al'

What happens
i

Ex
thing 5 hnmc.lm:u

h?‘ 15 the melug

U5 Senics of Carbon compounds. 2
i .’g e builmg POmis of CHy higher than that
a0 A4

3dation in chemical pioperties of a
SETIes Compounds 9

(1v)

I (1) aldehyde and (i) keione

of a0 organic compound X
Wo carhgn Alome

(1) when “X* is heatsd with ‘excess concentratesd
acid al 443 K 9 g nte chemical equation for the

sulphuric
Teaction siating the

role played by conce

conditions for the reaction Also state the
iraled sulphurnic acid in the reaction
{11) Name and draw the eleciran dat structure of lydroecarbon
Produced in the aboye reaciion

36. (A) (1) Name three 1a shniques/devi in females 1o avoid 5
pregnancy. Mention the <id

(1)  What will ha

r'i:l'-i'1 |il:'.;f| CER 15 not renilised 7
OR
(B) (i) Draw a dizgram show Ing spore
the {a) !-'!'I."".i'..'l".it'.' and (k) -
I v shee of br=ad
Rhizopus not multiply on a dry shice of

it T - 5 b hich 1 I'-"'.]'ik 1on akes
"| ¥ j #xrilingg i foCess b VIich T W g
!”‘1 r\.!l.. T CRPIA L LY

place in Hydra

PTO
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Q. No. 37.39 i
parts. Interyg)

SECTION -
S o . a;e-bascd quesiions with 2 to 3 short sub-
37. Mende) ' Provided in gne of these sub-parts ;
: Worked aut 1h
€ Tules o
@ number of visible :

¢ Source-bagedye

f heredity by working on garden pea using

EXPeriments by makin “-::"'ilﬁm- ME characters He conducted several

characters of Ilﬁta plamg 5 *T0ss with one or two pairs of contrasting

Iterpretations whi. n the basis of his ohservations he gave some
eh tielped 1o study the miechanism of inberitance

1 When Me
feiieis .Lﬂ.de! crossed pea plants wih pure 1all and pure shor
Cristics to produce I, progeny, which two observations weic
made by him in Fy plants ? '

(n)y W = =
) Write one difference between darminant and recessive trail 1

Uy €A) Inacross with two pairs of conmasting charmctars

RRYY *® Ty

(Round Yellow) (Wnnkled Gréen)

e

Mendel observed 4 types of combimations in ¥ . generation By

which method did he obtain F. o ation ? Write the fatio of

the parental combinations obtmined and what conclusions were

L]

drawn from this expariment
OR
(i) (B) Jusufy the stateman

-

“It is possible that a trait i1s mhented but may nol be expressed

aiven below showing the focal length ol tlyee concave

38. Study the data g ,
LT = raliarad -

mirrors A, B and C and the respechive distances 01 ohjects placed 1n front

of the murrors

; sk cne of the above ca WHITOE Wil
(1) In which one :
? Justifv your anawel

4 e

image of the object )
[l 't-'t" |mage formed. imn €46k &

(it) List two propertes ol i |
(1) (A) What is the namire and si7e ¢
Draw ray dia

the um

s By volr answer
.L_'Tﬂ-”'l 10 ) gsly you 1

21

31310143

[ Mirror_| Focal Length (c) | Object Distance fem)
A | :"__ 1 !_ ___-.-:__.__ _____

T T |
) e I e
' 8 1) . 20

form a diminished

age formed by maror L

PT.O
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(iii) (B) OR

A 1 1s placed at g distance of 18 em from 1he pole of a
el ' <
UNCawv MHITor of foeal length 12 em. Find the pasiton of the
””"5_3'5 r"|'.’-1Itff in this care

'1"“ |1!1|1‘

[

W 7A ] ) N

39 Tha -
The metals Produced by : Ty pure
C Y vanous reduction processes are nol very p
which must be
Wil Iy used

I method for ¢

ihl'\ o 2 clLals
R C
1‘“"' “”]'l”tl'l\‘-- cmoved o obtam ',.'1”'- m Il

;i?lni:'._.: impure. mefals 15 electrolyvoe

1 Ir-; Maosg
refining

) w hat is the cathode and anode mad
this

(1) N

of i the "\'3".|1||1:__; ol coppar by
Procags 7
‘ame the

process and write its formula l
(i) (AY How cann

electric current 1s passed-in the

() (B) You have 1

wir b

~and 'B' commning copper sulphate
solution, What we

Ours 1l You l!LP

|1;- ¥

4 sinip ol

silver mn beaker
1ve reason for vowr obsen
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